D R A F T   [commentary is in square brackets]	5 September, 1994

Subject:	Comments on document JTC 1/SC 2/WG 2 N 1036, ISO/IEC 10646-1 Proposed Draft Amendment 2 (UTF-8)

SHARE Inc. votes to adopt pDAM-2 with comments.

0.  Comments

Note that UTF-8 does not avoid the values of the C1 control characters.  UTF-1 avoided them at the request of the representative from the Internet at the C1 ad hoc meeting held in Geneva in August, 1991 just before the WG2 meeting when the formal discussion of the merger began.  We need to contact the Internet representatives to determine if UTF-8 satisfies their requirements.

1.   Major Concerns

The UTF-8 Annex does not include an ISO 2022 identification sequence.  This may be corrected by adding to the Annex a section similar to section O.5 in pDAM-1.  

ISO/IEC 10646-1 needs to clearly state that the UCS-4 form shall not use the code positions from 0000 D800 to 0000 DFFF.  This affects pDAM-2 (UTF-8).  

Move the first sentence on page 2 to before the table and change the text to provide the necessary clarification:

The code positions in the S-zone (0000 D800 to 0000 DFFF) are invalid in the UCS-4 form and therefore they shall be excluded from this conversion process.

Under the table in section P.5, remove the conversion for UTF-16.  These code positions are invalid in UCS-4.

Under section P.5, the domain of UCS-4 within the range of code positions from 0000 D800 to 0000 DFFF must be either excluded or have an undefined UTF-8 conversion.  In the table, specify the UCS-4 values so as to exclude this range of code positions; for example, replace “x < 1 0000” with “800 £ x < D800” and “E000 £ x < 1 0000”.  See editorial comment for section P.5 about specifying a range for the variable x.

Under the second section P.5 that defines the conversion from UTF-8 to UCS-4, the algorithm has an error for the first row.  From the first table on page 2 of section N.2, for the single octet form of UTF-8, the value of the first octet must be less than 80.  If WG2 decides to use the current format (see the editorial comment under the second section P.5 about using a range for the variable z), the first line under UTF-8 must be changed to:

z < 80

UTF-8 is inconsistent with UTF-16 in the treatment of two reserved UCS code-positions.  The UTF-8 defines transformations for UCS-4 code positions 0000 FFFE and 0000 FFFF.  In contrast as it is currently written, UTF-16 explicitly excludes these two code positions from its transformation.  Since the transformation algorithms for UTF-8 and UTF-16 would be much simpler, and since character processing software can better decide how to handle these two reserved code positions, modify UTF-8 and UTF-16 to transform the reserved UCS-4 code positions 0000 FFFE and 0000 FFFF.

2.   Editorial Comments



3.   Minor Editorial Comments

As a courtesy to those readers whose native language is not English, please replace English abbreviations such as “i.e.” and “e.g.” with the full text throughout this amendment.

Cover Sheet for Amendment 2, page i, remove the second apostrophe in “l’’information”.

In the ISO/IEC copyright statement on the table of contents page, page ii, is “utilized” or “utilised” the British spelling?

In the Introduction on page iv, change the last sentence to be positive.  Replace “UTF-8 addresses problems found in UTF-1” with “UTF-8 is suitable for more information systems than UTF-1”.

Change all of the section headings to use Annex “P” instead of “N”.  Make the same change in the text and table of contents.

On page 1, the top of the right column of text is immediately under the title of the Annex.  Change the formatting to add a blank line to separate the title from the rest of the text.  

Annex P should have an introduction similar to the one for Annex G.  Before section P.1, add an introductory paragraph such as:

UTF-8 transforms the fixed-width coded representation of graphic characters in this coded character set into a variable length form.  Except for the ISO/IEC 10646 characters with code positions 0000 0000 to 0000 007F, this form avoids octets with the values 00 to 7F.  Thus, the UTF-8 form can be used by systems sensitive to these octet values.

Under section 1 of Annex P,

The U.S. believes that it is important to acknowledge the work of X/Open.  However, it appears better to remove the footnote text and place it before the list of bullet items.

In the first footnote, change “FSS_UTF” to “FSS-UTF”.  Also change the second sentence to read:

X/Open first published FSS-UTF as a preliminary specification in document number P316.

Change the third sentence to add the word “on” after “based”.

Change the text of the sixth bullet to read:

UTF-8 does not use an excessive number of octets for the encoding.

Change the second paragraph of the last bullet item to add a space after “(see Annex O)”.

Under section P.1 on page 2, 

In the first table, change “Octets” to “Octet”.

In the first table, split the “Bits Free” and “Max. UCS-4” onto two lines so that the column headings can be more easily distinguished.

Including a footnote number in the middle of the table is confusing because the reader will question whether the number is an exponent in a formula or a reference to a footnote.  The text from a prior comment on the code positions should make the footnote unnecessary so that it can be removed.  If WG2 decides that it needs the footnote, use an asterisk character (“*”) to reference the footnote text.

In the second sentence of the first paragraph, replace the word “Therefore” with “From the table,” and change “is a sequence of one” to “is a sequence of one octet”.

Under the note, the second sentence can be simplified to:

The algorithm is relatively simple:

Under the second bullet of the note, change “low bits of the result” to “lower-order bits of the result”.

For the rectangular box around examples 1 and 2, the lines are so thick that they distract a reader from reading the text.  Please change them to thinner lines.

In the Example 1 box, add a space between the third and fourth octets in the second row under UCS-4.

Under section P.3, 

In the first sentence, after “CC-data-element” add “encoded using UTF-8”, and change the reference from “N.2” to “P.2”.

Replace the second sentence with two sentences:

This sequence is called a malformed sequence.  Unless an originating device that is in conformance with the requirements of UTF-8 is retransmitting a malformed sequence that it previously received, the originating device shall not transmit a malformed sequence.

Under section P.4, 

Remove the first sentence about notation similar to Annex G.2.  Since WG2 is considering removing Annex G, this sentence could become confusing in the future.

Under item 2, replace “quadruple” with “and four”

Under item 4, add a space before the “=” .

Under item 5, add a space after the “=”.

Under section P.5,

Make the format of line of the table heading the same as in pDAM-1; namely, one horizontal line.

In reformatting, ensure that the table is not split across two pages.

In the table, specify a specific minimum and maximum as the range of values for the variable x.  For example, 

0 £ x < 80

80 £ x < 800

800 £ x < D800

E000 £ x < 1 0000

1 0000 £ x < 20 0000

20 0000 £ x < 400 0000

400 0000 £ x < 8000 0000

Under the second section P.5 on page 4,

Number the section “P.6”.

Make the line of the table heading the same as in pDAM-1; namely, one horizontal line.

In reformatting, ensure that the table is not split across two pages.

Before the table, specify that 

The variable z is the first octet of a sequence and determines the number of octets following in the sequence.

the variable y is the second octet of a sequence.

the variable x is the third octet of a sequence.

the variable w is the fourth octet of a sequence.

the variable v is the fifth octet of a sequence.

the variable u is the sixth octet of a sequence.

Specify valid ranges for the variables u, v, w, x, and y as “80 £ variable < C0”.  This could be done either before the table or in the table.

Specify valid ranges for the z variable as:

00 £ z < 80  [Note, this line is a correction to the algorithm.]

C0 £ z < E0

E0 £ z < F0

F0 £ z < F8

F8 £ z < FC

FC £ z < FE
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